
A

−0.5

0.0

0.5

1.0 + . . # samples : 41

mBL : # = 40  −>  91 %
intermediate : # = 1  −>  2 %

B

−0.5

0.0

0.5

1.0
. . . # samples : 10

mBL : # = 9  −>  20 %
intermediate : # = 1  −>  2 %

C

−0.5

0.0

0.5

1.0
. . . # samples : 11

mBL : # = 1  −>  2 %
intermediate : # = 4  −>  8 %
non−mBL : # = 6  −>  5 %

D

−0.5

0.0

0.5

1.0
. . . # samples : 37

mBL : # = 8  −>  18 %
intermediate : # = 8  −>  17 %
non−mBL : # = 21  −>  16 %

E

−0.5

0.0

0.5

1.0 − . . # samples : 49

non−mBL : # = 49  −>  38 %



F

−0.5

0.0

0.5

1.0 − . . # samples : 62

intermediate : # = 4  −>  8 %
non−mBL : # = 58  −>  45 %



A

mBL intermediate non−mBL

−0.5

0.0

0.5

+ . .

B

mBL intermediate non−mBL

−0.5

0.0

0.5

. . .

C

mBL intermediate non−mBL

−0.5

0.0

0.5

. . .

D

mBL intermediate non−mBL

−0.5

0.0

0.5

. . .



E

mBL intermediate non−mBL

−0.5

0.0

0.5

− . .

F

mBL intermediate non−mBL

−0.5

0.0

0.5

− . .


